
l=

0,02 m
Мазилка

0,10 m
Стомано-бетонна плоча
d

d =

2 1,63 W / m.K=

0.70 W / m.K=l

2

ТАВАН НАД КОТА +9,60 / КЪМ НЕОТОПЛЯЕМ ЕТАЖ+12,90/

Подова настилка

3 3

Замазка армирана
l= 0,03 md 1 0,93 W / m.K=1

Детайл4

0,02 m
Окачен таван
d = 0.21 W / m.K=l5 5

0,035 W / m.Kl =4=d4 0,05m

Топлоизолация - минерална вата
плътност -18-28 kg/m3

fU   = 0,55 2/W m K.

0
=U

1
Uf

+
AG

AG .U    +z.p.U  +h.p.U +0.33..n.Vpwbf w
=

1

=
1

0,55+
425

 233,75    +  56            + 42,90 
= 

0U
1

0U   = 0,32 2/W m K.

3.12 2m K/W.
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